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Let them separate themselves - TR VT

OVERVIEW

The X773 cited an episode where 7°wX> " forced a person to agree to give a ©3 and
then he told the (five) 2°7v to hide and write the 3, out of concern that husband
may retract and nullify their mm°%w. The X723 infers from this that (the 7577 is like
A"awn regarding 1°192 XOWw 1203, and) the 7997 is like °27 regarding  X5W 7 19002
1"193; for if 1192 XYW 737 19v1 is ineffective, he did not need to tell them to hide; he
could have told them to separate. 5010 explains that this proof is relevant even if
we assume that the npY?nn regarding 7 °192 ROW 777 19002 is dependent whether we
assume 7913 7202 NP 790w MY (it is not effective) or not (it is effective).'

— %395 )7 NP RNAT 999Y DT NNNPN NHLAY MTYL INNND SPINT INIPY 190N
Even according to the one who establishes the dispute between 3"2w™1 29
(regarding whether 17 2192 R?w 777 5022 712°), is based on whether ;7p» ahuaw M7y
it is %12 179w2 or not; the X3 correctly infers from this episode that regarding

19192 XOW 171 7002 we rule like 929, that 1192 Xow 71 022 912, because n¥pn AowAw MY

7915 171902 RY; the proofis -
— 99729N 9917257 913919 XD NI T1I1HT

That according to "27 they could not have been told to separate -
— MV DIYY XY AT 2392 NOY Nt HVAY DI1PVY )09

For since "1 maintains that he can be 1'">122 Xb>w 77 Swan the separation

(without hiding) would not accomplish anything -
— 1919 HLASY 1Y INYY 393 NYMIY TN Y3 Y02t

For the husband will be ®va» each one when he finds him alone, until he will be

buvan all of them -
— 095 191V%32 PPN NT 293 XYY NT HVAY 9159 PNRT INIDNIN 12 PYNY 1299 HaN

However according to 3""2w= that he cannot be 1'"7102 85w 771 Yuan, then [(even)

if they are not hiding] his 12 will be ineffective -
— 18y 2393 1NN Y5 0D HVAN 1IN

"If the reason why 3"2w maintains 77 *392 89w 77 is ineffective, is since anything which is done in the presence of
‘ten’ requires ‘ten’ to void it, then obviously there is no reason to hide for if they are not together he cannot void the
va. [See ‘Thinking it over’ # 2.] However if the reason 1192 Xw 77 is ineffective is because of nnXPnH 70w MY
213 1912 and therefore we are concerned that those who do not know of the 210°2 may write the va illegally, it would
seem that if that concern is removed, by informing all the 0>73, then the 1192 X%w 171 91°2 would be effective since
the concern is eliminated. This would explain why even according to 3"2w" they had to hide in order not to hear the
9121 individually. mooin rejects this concept.
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Even if he is Yu2% all of them individually (it will be ineffective since 3"2w" maintains
1"9192 KOW 1 H02% 9190 PX). This is true -
— 7Y %279 %2191 SPTS NYT 31 SIN NIYT WHMNAY XYY XIWNT 22 UY 4N

Even though that now (when he was Svan all of them) there is no concern that

perhaps these that do not know of the 711°2 will write a 03 and give it to her; this
concern does not exist since he was 02 all of them, nevertheless -

:2‘1? 23932 N 1N B899 YLV 1Y DHVrYa NI NY
The 12 will be ineffective unless he is %va» all of them in the presence of
each other.

SUMMARY

According to 3"2wn even if he is Pvan all the o>7v, but if it is 1"192 XOW 77, it will
not be effective, even if we maintain that his reasoning is based on 7vaw M7y
ARy ilumByiskdrial

THINKING IT OVER

1. It appears that the intent of N0 is to teach us that the proof that the 175717 is not
like 3"2w1 regarding 1"°192 K7W 177 Y2 is even if we assume the argument revolves
around "21 angpPn 7702w M. It is not understood why mpoin did not clearly write
how that is proven’, and also why was it necessary for moon to explain how it is
understood according to °27? Seemingly according to "27 it is understood in the
same manner whether their NP1 is in regards to "> 702w M7V or whether 93
21 7AWV DRI RTWNNT RNN!

2. Can we infer from this “moown that if 3"2w7 maintains 1">192 X>@ 77 19071 is
ineffective because 121 X72ynT XN 93, then the reason it is not Y12 is not because
the others may write the vx (but rather a X111 9109)? Would this seem to support
the view of the X"w1an in *3™¥ 7"7 Moo conclusively’ or can we still maintain
otherwise?

* mooin does not explain why indeed the 912 is ineffective in such a case where there is (seemingly) no wwn.The
X"2w" explains that we are concerned that after he was van some of the o7y, the others will write the v3 illegally
(before he had a chance to be 071°192 Y02n), since 7212 7702 AN¥PR 7702w M7V, See "R # 90 and »"ma.
? See footnote # 2.
* See footnote # 1.
> See TIE there footnote # 2 and the ‘Appendix’.
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